Equation vs Inequality
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GREATER THAN AND LESS THAN SYMBOLS
(the mouth opens to the bigger thing)
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Contest entrants must be at least 18 years of age
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The temperature has been below -5 degrees for the last week
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You must have 7 items or less to use the express checkout line
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Scientists have discovered over 400 species of dinosaurs
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USE A NUMBER LINE TO SHOW THE ANSWER TO AN INEQUALITY

Hollow dots are for "greater than" and "less than”
Solid dots are for "greater than or equal to" or "less than or equal to"

You must use an arrow at the other end to show if it keeps going
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Write the inequality and 4 possible solutions
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